A% T EA-Fae A HE AarER [EE 5] <l 20200 9. 9.>
19 AFAE 7E=X(A6xA28 2 A3 #4H)
g = (S 7] =] I = (ES]) 71 = A G = (ES]) 71 = A
3l & (g) 324 AE(ug) 30 28 H 9l (ug) 25
FH(g) 100 Z+ 4 (mg) 700 H] B} Bo(ug) 24
2l o] - (g) 25 2 (mg) 12 Hlo] © Bl (ug) 30
g A (g) 55 HIEFID(ug) 10 vHE 8l 4k (mg) 5
hul
A (g) 54 (liil]i:) 11 °1(mg) 700
EZ A (g) 15 HIEFI K (ug) 70 22 =(ug) 150
=7 2 H = (mg) 300 H] E}71B; (mg) 1.2 vl 14| & (mg) 315
U E F(mg) 2,000 H] E} 71 By (mg) 14 o} (mg) 85
Lol o}l
ZH5(ng) 3,500 15 A 5 (1) 55
(mg NE)
H EFRIA
700 H] E} 71 B6(mg) 15 T2 (mg) 0.8
(vg RE)
HEFIC(mg) 100 A2 (ug) 400 4 7H(mg) 3.0
H] 11

1. AlEtRIA, HIERID 2 HIERIES 9 Fo weE &9z FAeY, 235 dtof TU(5ASS]) &4

Fol= =t FArok(Rt 24 olske] Abgts wWEH o]t & ow FAHE AES 1
F & Ao disiAe TG FHAE, A=A LT FFA HHAVEd wETh
JEwE 1A o) 241 oldt ot ©erdtE, B, 9E R g 1Y 9U¢ h

M= ©skE 150g, B3 50g, © A 35g B AW 30gs 483t
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